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SOLUTION-3
Solution. 4, = 3000, m, =0.01
Voltage gain with negative feedback is
_ 4, _ 3000 _ 3000 _ o

A -
o1+ A, m, 1 + 3000 x 0.01 31



OR

SOLUTION -3

Solution. Ay = 140, Ay =175

X
Let i, be the feedback fraction. Voltage gain with negative feedback 1s

_ 4

A .
V' 1+4,m,

or 175 = 40
/. e
1+ 140 m,
or 17.5+2450m, = 140 |
_ 140-175 1
v 74500 T 20
SOLUTION-4
Solution. L, =58.6uH = 58.6 X 10°H
C, = 300pF = 300 107°F

1
InJL G
1

= =Hz
27 4/58.6% 107° x 300 x 107

= 1199 x 10° Hz = 1199 kHz

Frequency of oscillations. f =

OR

SOLUTION-4

Solution.
R, = R,=R,=R=1MQ =10°Q
C, = C,=C;, = C= 68pF = 68x 102 r

]

Frequency of oscillations is
1

fo = 3xRC Jo
1
= 5 Hz
27t < 10° x 68 x 107 /6
= 954 Hz




